EARAROBEEIERT — 2 N— IBISH —F

2015512828 (k) 18E&&HE2H

IGR 7 >B5# B5 45%—#% (xwlw | lmEmml - |5 @) w8
[A&4] 1 #%&:170,000 F ~ 23%&:30,000™  3#&:12,000H  4#%:9,000MH  5%&%:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o f . . KB = 146. —-4-4— . — $RRBEX (BHE)
118110 NS v AE—4 4 4 P 2 1(4_6)3 4-4-4-6 | 39.6 6 (5_026) ot
RiaA X w ML B REAFEY R KIS
5 NESEEDY A 4 ;‘%Ek 1:(416).5 1-1-1-1 |40.2| — | 3 (4_529) gééf— (BHE)
R:FLIIVR Bihxyavday ZR77—L4
5 A 5 | IUERFRE 1:46.6 2-2-2-2 |40.2| — 1 487 | ETIBE—F (BHE)
3 6 AR ¥ k) % .0 (1/2) 1) REEE
T4 N=h )= B:H—zv bED- Wt hFILZ &y K
4 5 | ALE— 1:47.4 9-7-5-4 | 40.6| — 5 482 | ROFEE (BHE)
4 3 JV—XT 54.0 (4) 1) (R) J P N#Af
R:Fa25> 4 BiLTF4RMLAY FATAT7—L
NITETIN b AT ES 147, -8-9- . — $RRBEX (BEHE
AT o | RZiR R
R:AR=—3I>ThR—L BNFEZR=Ux NIk e ]
. S FTzE 147, -3-3- . = FHEE (BHE)
6l8lg J—TFAqy by 3I— 4 4 e (11417/27) 3-3-3-3 | 41.1 2 (4_516) AL
R:7VFEE BIXAHANT FAAAT7— L
N . e BEAE : 56— — HER (BHE
R RESTIYE w4 b | e [e7) - | 0 | |RER R
R:Za—A>95>K B:TL795747 NEBIE FIX
N H o4 | BEEZ 1:48.2 8-9-7-7 | 4.0 — | 7 | 456 |WPEX (5#)
8 2 F7ke—0— )5%.05 (2 1/2) 0 LB g
R:2gY—>rb—0— B:AJUIIZXFa> [EELe]
SN o4 | NARED 1:48.6 10-10-10-8 | 40.9 | — 9 545 Woh— (BEE)
9lz|7 | X1 7%Av b 70550 @ 4) | (B J P NEH
RLiRZ R N=IN— F:rETY— HH BE
2 S B 4 | RIBAEB 1:49.7 6-6-8-10 |42.3| — 10 | 442 | REBEA— (BEHE)
10[1]1|F¥FLYZTR 540 ®) Cr | (R J PN
RH TN A~ BT Fa—T BEZ %Y K
® 1—F—@EBIERL
1T=7r= 4,6,9,10,8,1,5,2,3,7
2a=5F= 4,6,9,10,8,1,3,5,2,7
Ja=5= 4,6,9,10,3,8,2,1,5,7
43—+ — 4,6,9,3,8,10,2,7,5,1
[ N5
B 10 1,800 714K 4-10 750 e E 4-8 1,190 JEE 4-6-10 2,150/
B B 10 190M4 6-10 320M B = 4-10 3,170H JEE 10-4-6 27,460
4 230M 4-6 300M B H 10-4 6,970M
6 1209

ABICOVWTRDTEEERROODE. TR LIV,




